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8,25 The solid shaft 4B rotates at 600 rpm and transmits 80 kW from the motor A/
to a machine tool connected to gear F. Knowing that r,, = 60 MPa, determine the
smallest permissible diameter of shaft 4B,

PROBLEM §.26

120 mm 8.26 Solve Prob. 8.25, assuming that shaft AB rotates at 720 rpm
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%ch_.w—-—zso—-———a-'a-mo-*%l;; M, - %%Moj . €36.8 Nem
My 4855 Nm
Arc: MEamMtT = 1664 2 Nem
A+ D ./MJu M2+4T = 18%.797 N-m

Tt = §-<1/th+ M, + T ) -

-%-— = .;Lc's - (J M‘!':-EHM&\* Ta)h'« = lgsosf-'z‘ s_it'qqaxlo-é MB
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